th-2 13 9] gABCD ©|A AB 9] Zo]&?

@ 3.5cm @)4cm ® 3+2cm

@ 3+v3cm ® 5em

A IEAE Aol do] WHE o, o3|
at+c=b+d
~346=5+AB,AB = 4cm




2. o2 IEONA x+ 2y O F20

5

@is0c @18 @ 190° @ 195° O 200°

B

1
Lx = 3 x 220° = 110°

1
Ly = 3 x 140° = 70°
L Lx+ Ly = 180°




& 14 OM = ON & ], &7

o 70
A2 A7

® 0A=0C @ AN =BM

® CN =BM

®G)an = om

- N

® AM = BM , OM = ON




ol w), gAPBO o] E#]¢] Zo]Z Fsfofe}.

@ 12cm @ 17cm @ 18cm @ 28cm @340111

P=1V132-52=12,AP =BP,0A = OB 0|22
(AP APBOSEH 9] Zo]) = AP + BP + OA + OB = 2 x
12+ 2% 5 = 34 (cm)




O 1ol ¥ 0 = A =90° A
QI AZH2E ABC ] Wi el

1, A D,E,F = 4ot} AB =
12cm, BC = 20cm, CA = 16cm 6
Ao, &0 9 Hol=? B c
E
2 9 2 2
@ 4nem @) rem ® 6.57mcm
@ 127 cm? ®)167 cm?

el WA SL et b

1
—X12%x16 =
2

X (12416 +20) x r

N | =

s.r=4(cm)
wrabA], o] Yol 16rem?




6. o 1" Zo] ¥259 Zol7t sem <1 ¥ O °lA ABLCD ,
CD = 8cm ¢ w, BM ¢] Zo]=?

@ 1lcm @)2cm ® 3cm @ 4cm ® 5cem

BM = x 2} 5}

AOCM 9| OC° = OM~ + CM~ o] B2
52 = OM + 42

OM =3

Lx=2




‘:‘r_%l"éﬂ/ﬂ ¥ 0 & AADE o Yol BC & ¢ O o Heth
AD = 6cm , AE = 7cm , DE = 5em € W], AABC 9] &89 Zol&

T2

8cm

\VARR 4
0
it

A0 SHAE o] HHSF = ot
AABC 9] E3= 2AF

AF 9] Zol& x 2 51
(7T-x)+(6-x)=5

x=4

- AABC 5= 8




@ 4cm @ 6cm
@ 6v2cm ® 6vV3cm




YO 7FAABC 9| A HIL H D, E, F A
oA H o, x o gr& Fsheq=t.

16

\VARR 4
0x
i

x=4+12 S x=16




10.

oS 2o C = 65°, OM = ON
o o, L/MON ¢} A7|& Fstofzh(H,
/MON & 0AMON 9] Y Zto]t})

iy
o

[ 2
[> =l /MON = 130°

0

~&B

OM =ON = AB=AC °|E&

AABC £ o] 3HAZI ot

/A =180°—-65°-65°=50°

webA /MON = 360°—90° - 90° - 50° = 130° o]t}




11. o2 I"IAPA, PB+
¢ ™, AOPB 9| Ho|E -5t}

iy

o

=
V)

>
> HE 60 cm?

PA = V172 - 82 = 15(cm)

PA = PBO|E& AOPB = 15 x 8 X % = 60( cm?)




12. oS o4 AD, DC, BC = 8+l O ©] c
Aotk AD=3cm,BC=15cm ¥ \

’ \

A% AB 9| Zolg Fatolet, |

=
| — ]

>
[> e 645 cm

~&B ‘

DC% 9 07} it A2 Bt ot

ﬁ:m:%m,C—E:C_B: 15cm
ojtt.

FERH A D oA E A0 S H 2
s

DH = AB ©]|t}.

AB = DH = V182-122 = 130 =
6V5 (cm)




